Part Designation Material Dimension(mm) Qty
A Table top Wooden & Ceramic 2050 x 1050 x 110 1
B Legs frame Wooden 850 x 720 x 100 2
C Stretcher Wooden 1520 x 80 x 30 1

Hexagon screw M7'x 100 4 pes
Screw set Allen ke M7 x 70 :8pcs 1set
y Allen key M5 : 2 pcs

Screw set
D n»»n»»»»))))»))))»))»)))»))))»»

M7 x 100
E n»»»»»»»»»»»»»))w

M7 x 70

F e @




